( Ba/kg )

*1 *1 *1
500m *2 500m *2 500m *2
4 16 4 16 4 16
*3 *3 *3
7 3 7 3 7 3
1-131( 8 ) ND ND ND
1-132( 2 ) ND ND ND
Cs-134( 2 ) 2.0E+04 7.1E+03 1.9E+05
Cs-136( 13 ) ND ND ND
Cs-137( 30 ) 3.6E+04 1.3E404 3.4E+05
Sb-125( 3 ) ND ND ND
Te-129m( 34 ) ND ND ND
Te-132( 78 ) ND ND ND
Ba-140( 13 ) ND ND ND
Nb-95( 35 ) ND ND ND
Ru-106( 370 ) ND ND ND
Mo-99( 66 ) ND ND ND
Tc-99m( 6 ) ND ND ND
La-140( 40 ) ND ND ND
Be-7( 53 ) ND ND ND
Ag-110m( 250 ) ND ND ND
*1
*2 1,2
*3
21
H21
Cs-137 ND  21Bg/kg ND



Sr

Bg/kg
Sr-89 Sr-90
() 1,2
( 500m) ! N.D. 1.7=H0.09| ><10*
(  500m) ! 4/16 N.D. 9.6+0.17| ><10'
( 500m) N.D. 1.72H0.04| ><10?
11 20 ND 4.3
21
Sr-90
Sr-90
- 1.740.14 10" - 1.740.09 >10!
- 9.6+0.27 =10 9.6+0.17 10!
- 1.740.05 =102 - 1.740.04 ><10?






